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1. Background
In RAN1 NR AH #3, there was one further agreement on active number of BWP in the wideband operation [1].
· In Rel-15, for a UE, there is at most one active DL BWP and at most one active UL BWP at a given time for a serving cell
This agreement actually caused confusion in RAN4 and one LS was approved in RAN4 #84bis requesting RAN1 to clarify the potential conflict between RAN1 and RAN4 agreement on the applicability of RAN1 agreement on BWP to case2 i.e. the feasibility to activate both BWP(1,1) and BWP(2,1) simultaneously for UE2 in Case 2 shown in the following figure [2].

Fig. 1, Wideband operation Case 2 [2]
In this contribution, we find that the confusion mainly comes from the understanding of the concept of “serving cell” in the above RAN1 agreement, and further clarify the slight difference of the concept between the wideband operation and normal operation. With this clarification, all of the agreements on wideband operation in both RAN1 and RAN4 can keep consistent and no more confusion will be expected. In addition, we also discuss the remaining issue on spectrum utilization from UE prospective in the wideband operation, and propose to use option 1.
2. Discussion
In the RAN1 agreement on active number of BWP in the wideband operation:
In Rel-15, for a UE, there is at most one active DL BWP and at most one active UL BWP at a given time for a serving cell
there are two possible interpretation on what is a “serving cell” in the wideband operation: 
1) “a serving cell” corresponds to the wideband CC. If this is the case, then BWP(2,1) in Fig. 1 is not supported according to the above RAN1 agreement, and it leads to non-support of CA operation which is obviously not the original purpose of introducing the concept of wideband operation.
2)  “a serving cell” corresponds to one CC of a CA UE (e.g., UE2 in Fig. 1) , then BWP(2,1) in Fig. 1 should be supported according to the above RAN1 agreement.
If we look back the initial RAN1 agreement which introduces the wideband operation: 
A gNB can operate simultaneously as wideband CC for some UEs and as a set of intra-band contiguous CCs with CA for other UEs.
Under the proposed wideband operation, it actually change views on “cell” among different types of UEs if we may still treat one CC as one cell. For example, 
· For a wideband UE in the wideband operation, it understands its serving cell is the wideband CC, 
· At the same time, for a CA UE in the wideband operation, it understands it has multiple serving cells with each serving cell corresponding to one CC
· For a narrow band UE in the wideband operation, it understands its serving cell is the wideband CC.
Therefore, the second understanding should be valid by clarifying that a serving cell corresponds to one CC in the wideband operation, and different types of UEs in the wideband operation may have its own views on its serving cell(s), although they belong to the same gNB. And this is aligned with all of the agreements in both RAN1 and RAN4 on wideband operation.
Proposal 1:  RAN4 should clarify that a serving cell corresponds to one CC from UE perspective in the wideband operation, and different types of UEs (i.e., narrow band UE, CA UE, wideband UE) may have its own views on its serving cell(s), although they belong to the same gNB.
Under the same logic, for the open issue on the spectrum utilization in the wideband operation from UE prospective [2] [3], option 1 should be taken which is per CC based. 
Proposal 2:  Take option 1 (per CC based) to define the spectrum utilization in the wideband operation from UE prospective.

3. Conclusions
Based on the above discussions, we have the following observations and proposals on the wideband operation:
 Proposal 1:  RAN4 should clarify that a serving cell corresponds to one CC from UE perspective in the wideband operation, and different types of UEs (i.e., narrow band UE, CA UE, wideband UE) may have its own views on its serving cell(s), although they belong to the same gNB.
Proposal 2:  Take option 1 (per CC based) to define the spectrum utilization in the wideband operation from UE prospective.
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